Name: KEY  
Auburn ID: Section: 13.0  
1. Let 
$$f(x) = (\sqrt{x} + \frac{1}{\sqrt{x}})^2 = (x^{\frac{y_4}{2}} + \overline{x}^{\frac{y_5}{2}})^2 \Rightarrow f^1(x) = 2(x^{\frac{y_4}{2}} + \overline{x}^{\frac{y_5}{2}})(\frac{1}{x}x^{\frac{y_4}{2}} - \frac{1}{x}x^{\frac{y_5}{2}})$$
  
(a) (1 pts) Find f(1)  
 $= (5_1^{-1} + \sqrt{1})^2 = (1+1)^2 = [4]$   
(b) (1 pts) Find the equation of tangent line to the graph of f at  $x = 1$   
 $y - y_1 = m(x - x_1)$   
 $y - 4 = m(x - 1)$   
 $y = \frac{3}{2}(x - 1) + 4$   
 $= 2(1 + 1)(\frac{1}{2} - \frac{1}{2}) = 4(\frac{1}{6}) = \frac{2}{3}$   
(c) (1 pts) Find the equation of normal line to the graph of f at  $x = 1$   
 $m_1 = -\frac{1}{24x}$   
 $y - y_1 = m_1(x - x_1)$   
 $= -\frac{1}{24x}$   
 $y = -\frac{3}{2}(x - 1)$   
 $= -\frac{3}{2}$   
 $y = -\frac{3}{2}x + \frac{3}{2} + 44$   
 $= (\frac{-3}{2}x + \frac{3}{2} + 44)$   
2. (a) (1 pts) Differentiate  $g(x) = 4xe^x (\csc x)$   
 $3Cm^2 product rule hotice:
 $g^1(x) = (4xe^x)^2 \csc x + 4xe^x (\csc x)$   
 $= (4e^x + 4xe^x)^2 \csc x + 4xe^x (\csc x)$   
(b) (1 pts) Find the 91st derivative of  $f(x) = \sin x$   
 $f^{-1}(x) = \cos x$ ,  $\frac{91}{4} = 22 R 3$   
 $f^{-1}(x) = -\sin x 2$   
 $f^{-1}(x) = -\cos x 3$   
 $f^{-1}(x) = -\sin x 4$   
 $f^{-1}(x) = -\sin x 4$   
 $f^{-1}(x) = -\cos x 3$$ 

Math 1610

(c) (1 pts) Evaluate 
$$\lim_{x \to 1} \frac{\sin(x-1)}{x^2+x-2} = \lim_{x \to 1} \frac{\sin(x-1)}{(x-1)(x+2)} = \lim_{x \to 1} \frac{\sin(x-1)}{(x-1)(x+2)} = \lim_{x \to 1} \frac{\sin(x-1)}{x-1} \cdot \frac{1}{x+2} = \lim_{x \to 0} \frac{\sin(x-1)}{y} \cdot \frac{1}{3} = \lim_{x \to 1} \frac{\sin(x-1)}{x-1} \cdot \lim_{x \to 1} \frac{1}{x+2} = \frac{1}{3}$$

3. (a) (1 pts) Find the equation of tangent line to the circle 
$$x^2 + y^2 = 25$$
  
at the point (3,4)  
 $y - y_1 = m(x - x_1)$   
 $y - 4 = m(x - 3)$   
 $y - 4 = -\frac{3}{4}(x - 3)$   
 $y = -\frac{3}{4}x + \frac{9}{4} + 4$   
 $= -\frac{3}{4}x + \frac{9}{4} + 4$   
 $= -\frac{3}{4}x + \frac{2}{4} + 4$   
 $= -\frac{3}{4}x + \frac{2}{4} + 4$   
 $= -\frac{3}{4}x + \frac{2}{4} + 4$   
 $= -\frac{3}{4}x - \frac{3}{4} = -\frac{3}{4}$ 

(b)  $(1\frac{1}{2} \text{ pts})$  Find the derivative of the function  $y = \sin^{-1}(3x+1)$  $y = sin^{-1}(sx+1)$ <u>Mthd1</u>: y = 515'(3x+1) mthd 2:  $= s_{tn} u, u = 3x + i$   $\Rightarrow y'(x) = \frac{1}{\sqrt{1 - u^2}} \cdot u'(x) + \frac{2^{n}}{\sqrt{1 - u^2}}$   $= \frac{3}{\sqrt{1 - (3x + 1)^2}} + \frac{4}{\sqrt{(s_{tn})^2}}$  $\Rightarrow \overline{S(ny = 3x+1)}$  $\Rightarrow \frac{d}{dx}(S(ny)) = \frac{d}{dx}(3x+1)$ ⇒) ∞sy•y' ⇒) y'= 3241  $= \frac{3}{\int_{-9x^2-6x}}$ 

> (c)  $(1\frac{1}{2} \text{ pts})$  Use logarithmic differentiation to find the derivative of the  $lny = ln (I\overline{z})^{3x} \begin{cases} \frac{d}{dx} (lny) = \frac{d}{dx} (\frac{3}{2}x lnx) \\ = 3x ln \sqrt{x} \\ = 3x ln x^{2} \\ = \frac{3}{2}x lnx \end{cases} \xrightarrow{y'} = \frac{3}{2} lnx + \frac{3}{2}x (\frac{1}{x}) \\ \Rightarrow y' = y (\frac{3}{2} lnx + \frac{3}{2}) \\ = \frac{3}{2} (Ix)^{3x} (lnx + 1) \end{cases}$ page 2